Q-1. Add :
a. Rs 17.30 and Rs 30.50
Rs17.30
+ Rs30.50

Rs.47.80

c. Rs 63.50 and Rs.78.50
Rs63.50
+ Rs.78.50
Rs.142.00

e. Rs 153.00 and Rs. 93.50
Rs 153.00
+ Rs. 93.50

Rs 246.50

0-2. Subtract:

a. Rs 15.85 from Rs. 30.00

Rs 30.00
- Rs. 15.85

Rs. 14.15

c. Rs. 150.25 from Rs 170.00

ACTIVITY -3

b. Rs58.25 and Rs 28.50
Rs58.25
+ Rs28.50
Rs 86.75

d. Rs. 105.30 and Rs. 97. 50
Rs.105.30
+ Rs. 97.50

Rs.202.80

f. Rs. 207. 30 and Rs 197.50
Rs.207.30
+ Rs.197 .50

Rs.404 .80

b. Rs. 38.50 from Rs 52.50
Rs 52 .50
- Rs. 38 .50

Rs 14 .00

d. Rs. 182.55 from Rs. 320.25



Rs.170.00 Rs. 320.25

- Rs.150.25 - Rs.182.55

Rs 19.75 Rs.137.70

e. Rs. 560.90 from Rs 600.00 f. Rs 780.50 from Rs. 900.30
Rs.600.00 Rs.900.30

-Rs. 560.90 - Rs.780.50

Rs. 39.10 Rs.119.80

Q-3.What should be added to Rs 97.50 to get Rs 150.00
Sol. Rs.150.00
-Rs. 97.50

Rs. 52.50

Rs. 52.50 should be added

Q-4. Raja bought a vanilla cake for Rs 350.50 and cookies for Rs 58.75 .
How much money did he spend in all ?

Sol. Money spent on vanillacake=Rs350.50

Money spent on cookies =+Rs 58.75

Total money spent= Rs.409.25

Q-5. Mohini had Rs 400.00 with her. She spent Rs 125.00 on a CD and
35.50 on ice cream. How much money is left with her?

Sol: Money spent on CD = Rs.125.00

Money spentonicecream=+ Rs 35.50

Total money spent = Rs.160.50




Total Money she had =Rs.400.00

money spent= - Rs.160.50

Money left Rs.2 39.50

Q-7. My mother went to the market. She bought rice for Rs 225.50 , tea for
Rs 42.75 and sugar for Rs 128.80. How much money did she spend in all ?
Sol. Costof Rice= Rs 225.50

Cost of tea = Rs. 42.75

Costofsugar= +Rs.128.80

Total money spent= Rs.397. 05




